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INTERNATIONAL AND AREA STUDIES
Paper — 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

Who propounded the “Neorealist
Theory” in International Relations ?

(A) H.J. Morgenthan
(B) K.W.Thompson
(C) Robert Dahl

(D) Kenneth Waltz

Who formulated the Neo-liberal
traditions in International Relations ?

(A) E.H.Carr

(B) Keohane and Nye
(C) Niebhur

(D) G.F.Kennon

Match the following from Table I
and Table II with the help of code
given below :

Table — I Table — I1
Country Weapons
System
a. USA 1. SS-20
b. Russia 2. Patriot
c. China (PRC) 3. Hatf4
d. Pakistan 4. M-11
Codes :
a b c d
A 1 2 3 4
B) 2 1 4 3
< 3 4 1 2
(D) 4 3 2 1

Critical theory developed out of the
work of the following :

(A) Chicago School

(B) Toronto School

(C) Frankfurt School
(D) Copenhagen School
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Identify the appropriate code from
the Assertion (A) and Reason (R)
given below :

Assertion (A) : “A democracy may
have goals or ideas but not an
ideology”.

Reasoning (R) : It is because
democracy rests on rational
choices and alternatives,
ideology sans rationality.

Codes :

(A) (A)is correct, (R) is wrong

(B) (A) is correct, and (R) is
correct

(C) (A)is wrong, (R) is correct

(D) (A) is wrong, (R) is wrong

The early post-cold war international
order was based on :

(A) multipolar system

(B) bi-polar system

(C) uni-polar system

(D) anarchy system

Globalization is the process of :

(A) extending the power of one
nation-state around the world.

(B) making the nation-state a
global standard for political
organisations.

(C) creating a more unified
economic community among
the world’s people.

(D) Identifying  opponents  of
democratization.

The US approach to the cold war was
originally set outin ...

(A) The Truman Doctrine

(B) The Marshall Plan

(C) The Monroe Doctrine

(D) The Dulles Doctrine
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10.

11.

12.

Identify the correct code for the
following Assertion (A) and Reason
R):

Assertion (A) : The terrorist attack
on WTC on Sept. 11, 2001
against United States tarnished
the Superpower status of the
United States and impacted
very heavily on international
politics.

Reason (R) : Under the impact of
globalisation and information
revolution, the capability of
non State actors to fight
asymmetric conflicts and strike
anywhere across the globe has
multiplied.

Codes :

(A) Both (A) & (R) are not correct.

(B) Both (A) & (R) are correct and
(R) is the correct explanation

of (A).

(C) (A) 1is correct but (R) is not
correct.

(D) (A) is not correct but (R) is
correct.

Arrange the following events in the
order in which they occurred. Use the
code given below :

()  Civil war in Liberia

(I) U.S. invasion of Afghanistan
(ITI) Rwandan genocide

(IV) Civil war in sierre leone

Codes :

A LIv, Lo (B) ILLIV,II
(©) uLIiLLIv (o) 1v,1ILILI1

Who coined the word “Casino
Capitalism”?

(A) Robert Keohane

(B) Samir Amin

(C) A.G. Frank

(D) Susan Strange

Which of the following is not a
Multinational Corporation. (MNC) ?
(A) Nestle (B) IBM
(C) Pfizer (D) Dabur
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13.

14.

15.

16.

Which one of the following is not

correct :

(A) Economic globalization
benefits everybody.

(B) Economic globalization
challenges the State.

(C) Economic globalization is an
uneven, hierarchical process.

(D) States adapt to challenges of
economic globalization.

Identify the following in sequential
order by choosing the code given
below :

(H WTO (I1) EU
(IIT) SAFTA (IV) NAFTA
Codes :

(A) TILILT,II
(B) 1L L1V,
(C) TLILLIV
(D) LI, 1V, I

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).
Assertion (A) Foreign Direct
Investment (FDI) that trans-
national companies (TNCs)
using in additional resources.
Reason (R) : Brings little in the way

of new technology and
contributes little to the local
economy.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation
of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Which one of the following is related
to the elimination of nuclear
weapons ?

(A) Brundtland Commission

(B) Canberra Commission

(C) Jarring Mission

(D) Oslo Peace Process
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17. Which one of the following is not a
Biological Warfare agent ?
(A) Bacteria (B) Viruses
(C) Crop Agents (D) Tabun

18. Match the following from List I to
List II by using the codes given

below :
List—1 List — 11
(Organisation) (Countries)
1. LTTE a. Syria
2. Hamas b. Nigeria

3. Hizbullah c. Sri Lanka
4. Boko Haram d. Iran

Codes :
1 2 3 4
(A) a d c b
(B) d b a c
(C) ¢ a d b
(D) b c d a
19. Arrange the following in

chronological order according to
their occurrences, using the code
given below :

L. Attack on Indian Parliament

II.  Attack on Pentagon

III.  Attack on Mumbai

IV. Attack on Bali Island

A LILILIiv @B) HOLILLIV
©) ILLuLIiv (o) 1v,LULII

20. Identify the correct code for the
following  Assertion (A) and
Reasoning (R) :

Assertion (A) Terrorism has
crossed national frontiers and

has  acquired international
dimensions.
Reason (R) The mobility and

interlinkages  of  terrorist
organisations have become

global.

Codes :

(A) (A) is correct but, (R) is not
correct.

(B) (A) is not correct but, (R) is
correct.

(C) Both (A) & (R) are correct.
(D) Both (A) & (R) are not correct.
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21.

22.

23.

Name the four SAARC nations

which have all established diplomatic

presence in the Maldives :

(A) India, Afghanistan, Pakistan,
Bangladesh

(B) Sri Lanka, India, Pakistan,
Bhutan

(C) Nepal, Afghanistan, Pakistan,
India

(D) Pakistan, India, Bangladesh,
Sri Lanka

Which one of the following grounds
is a stumbling block to provide
information  about  Kudankulum
nuclear plant under RTI. (Right to
Information) :

(A) Classified security and safety
information

(B) Indo-Russian unwillingness
(C) Foreign policy issues
(D) Fukushima ripple effect

Match  the  following  tables
chronologically on the basis of code
given below :

Table — 1 Table — 11
(Agreement) (Year)
a. Nehru-Liaqat Ali 1. 1964
b. Rajiv  Gandhi-J.R. 2. 1950

Jayewardane

c. Indira Gandhi-Z.A. 3. 1987
Bhutto

d. Lal Bahadur Shastri- 4. 1972
S. Bhandaranaike

Codes :

a b c d
(A) 2 3 4 1
B) 3 1 2 4
©) 1 2 4 3
(D) 4 3 1 2
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24.

25.

26.

27.

joined the

Identify the correct code for

Assertion (A) and Reason (R) :

Assertion (A) : India’s membership
in the East Asian Summit
(EAS), is a logical conclusion
of India’s ‘North East’ policy
aimed at fostering economic,
cultural and security relations
between India and the countries
of southeast asia and east asia.

Reason (R) : China wanted India to
be in EAS to strengthen
regional stability.

Codes :

(A) Both (A) and (R) are wrong.

(B) (A) is correct, but (R) is wrong.

(C) Both (A) and (R) are correct.

(D) (R)is correct, but (A) is wrong.

Arrange the following events in a

correct and ascending chronological

order.

L. Second nuclear safety summit
(Seoul)

II.  BRICS Summit (New Delhi)

1. 12" Indo-EU summit

IV. First meeting of the Mekong-
Ganga cooperation

Codes :

(A) LIv,IL1a (B) ILIL,IV,I

(©) Iv,ILLua (o) HULLILIV

Which of the following is most
accurate with regard to the role of the
UN Secretary General ?

(A) Has the right to declare war on
behalf of the UN in
emergencies, without
consulting anyone.

(B) Is responsible for making sure
that US  ambitions are
obstructed as much as possible.

(C) Can order member states to
depose evil rulers.

(D) Has quite limited formal
authority, and depends a great
deal on personal diplomatic
skills.

The country, which has recently

United Nations as

member, 1S :

(A) Switzerland (B) Sweden

(C) EastTimor (D) South Sudan
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28.

29.

30.

Identify the correct code for the

Assertion (A) and Reason (R).

Assertion (A) Some of the
powerful nations may interfere
in the internal affairs of the
weaker developing nations by
misusing the UN legitimacy.

Reason (R) : The economic and
military supremacy leverages
such situations under certain
expenses.

Codes :

(A) (A) is correct, but (R) is not
correct.

(B) (A) is not correct, but (R) is
correct.

(C) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(D) Both (A) and (R) are correct,
but (R) is the correct argument
for (A).

Arrange the following events in a

correct ascending order.

L Security Council issues an
agenda for peace.

II. UN peacekeeping commission
established.

III. International Criminal Court
(ICC) established.

IV. UNICEF convenes the world
summit for children.

Codes :

A LIv, I, B) ILILLIV

(©) HuLiILIv,1 (b) 1v,LILII

Match List I (UN Secretary General)

with List II (countries they belong).

List I List I1
a. Dag Hammarskjold 1. Myanmar
b. Kurt Waldheim 2. Sweden
c. U Thant 3. Peru
d. Javier Peres de 4. Australia

Cuellar
Codes :
a b c d

(A) 2 4 1 3

B) 1 3 2 4

<) 4 2 3 1

(D) 3 1 4 2
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it femar T |

IV. IFE% 3 a=ai & ford fova fomew
T SIS foha |

%2 !
(A) LIV,IL I
(C) TLILIV,I

(B) ILTLI, IV
(D) IV, LIIL 11

G- (ZUA. TErarad) ® g1l (3%

é‘ﬂ)ﬁo‘w@ﬁﬁaﬁ
-1 TeA-11

a. S ¥Eiies 1. ®=MER
b. & AeR™ 2. e
c. 39 3. U
d. SR R SR 4. Ao
B :

a b c d
A 2 4 1 3
)1 3 2 4
@ 4 2 3 1
M 3 1 4 2
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31.

32.

33.

34.

In June 2000 India become a member

of :

(A) Bay of Bengal Initiative for
Multi-Sectorial, Technical and

Economic Cooperation.
(BIMSTEC)

(B) ASEAN  Regional Forum
(ARF)

(C) Regional Cooperation
Agreement for combating

piracy and armed robbery
against ships in Asia. (Re
CAAP)

(D) Council for Security

Cooperation in the Asia-

Pacific. (CSCAP)

Identify the correct chronological
order of the establishment of the
following organisations.

L. SAARC

II. BIMSTEC

III. ASEAN

IV. MGC (Mekong-Ganga Co-
operation)

Codes :

(A) ILIV,ILI (B) ILLILIV
(C) IV,ILLII (D) LILILIV

Match the following using the codes
given below.

a. The Third Anglo- 1. 1895
Burmese War
b. Anglo Thai Treaty 2. 1884

c. French Conqueston 3. 1855

Vietnam

d. Creation of Federated 4. 1885
Malay States (FMS)

Codes :
a b c d

(A) 1 2 4 3

(B) 2 4 3 1

©) 4 3 2 1

(D) 3 2 1 4

China and Vietnam are currently on
loggerheads over :

(A) Border dispute

(B) [Illegal trade

(C) Spratly islands

(D) Paracels islands

Paper-11
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3S.

36.

37.

Identify the correct code for
Assertion (A) and Reason (R).

Assertion (A) : In nuclearised South
Asia, there would be no victory
in a limited war between India
and Pakistan unless the
objectives are clearly defined
in the opening round of the

conflict.

Reason (R) Both India and
Pakistan suffer from trust
deficit in  their  mutual
relationship.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is not correct, but (R) is
correct.

(C) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(D) Both (A) and (R) are correct,
and (R) is the correct argument

for (A).
Mikhael = Gorbachev  introduced
‘perestroika’ and ‘glasnost’ in the
year
(A) 1985 (B) 1987
(C) 1986 (D) 1989

The New Great Game in Central
Asia over access to energy resources
is centred on one of the following :

(A) Relations of US, Russia and
China.

(B) Relations of Europe and
Central Asia.

(C) Relations of US, China and
Central Asia.

(D) Relations between China and
Central Asia.
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31.

32.

33.

34.

ST 2000 T TR THTHT T T 2

(A) T, A UE S
A % o 9 sfw &
Ffomfea (@ smE TR TE S T )

EA)
(B) TSN stHeT ®RE & |
(C) ulem™r ® whrel W OEH dwr
s Shdl 31T oI & b &
o &l weaT waeiin & |
(D) TR &9 H g 9edn
IRUE F |

fafafed wiedl & =IO & 9E
SHIATISHH i TEa &Y :

[ ¥ %

I oo (df 3T w9 vy 2 T &)
[II. TREH (T TE T T )

IV. TH S G (ES- T 9edm)
T

(A) ILIV,IIL I
(C) IV, IL L III

T 53 Fi ol FerEar @ Fefefad w5

e ==Y

a. TR Ter-aH 35 1. 1895

b. Ul |y 2. 1884

c. foaaam w wifedr 3. 1855
o=

d. Geihd Ao ToAi BT 4. 1885

g
HE:

(=N

(B) I, LII IV
(D) LI, 1L IV

(A)
(B)
©
(D)

9 R faaaam f=fafad w enrstea
HeTe T &

(A) et g foars

(B) 379Y AR

(C) Trael FoagE

(D) URIA FIUEHE

W AN —=®
NN WAk DNT
il \° JIVS N SN ]
A== wa
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35.

36.

37.

AMHAT (A) A1 T (R) & ford @&

AVHAT (A) : RAUHE Ao
TR 4, YR AR uiieRE &
I it g § S a7 g
ST % % 999 & ugq IR A
T B WL T Y AT T
H A E |

% (R) : ORGSR uIREE
AT A URERE T
TR TeT i HH H U € |

(A) (A) AT (R) I TE |

(B) (A) W& i & W (R) Wl ¥ |

(C) (A) 3R (R) I+ Wl &, W= (R),
(A) I & AT TR E |

(D) (A) &R (R) I W&l & 3R (R),
(A) T T& T § |

forameer Meg 7 6w ad § REgEwr
TS “TAARE’ ITET ST Uidqure fomar 2

(A) 1985 (B) 1987
(C) 1986 (D) 1989

b1 B = B N O r)
H ST A TR AT HeTEd
(U 1) F=fetEd 4 9 T W Hisd
T

(A) JUE., TF T T & T
(B) TT 3R T URTAT & Trae

(C) Jud, 99 IR 7 URET &
Ty

(D) = @ e U & e g
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38.

39.

Match List I (Russian Presidential
candidates) with List II (Political
party they represent) with the code
given below :

ListI List II
a. Sergey 1. Liberal
Mironov Democratic
party
b. Vladimir 2. Communist
Putin Party of
Russian
Federation
c. Vladimir 3. A lJust
Zhirinavsky Russia
d. Gennady 4. United
Zyuganov Russia
Codes :
a b c d
(A) 4 1 2 3
B) 2 3 4 1
©) 3 4 1 2
(D) 1 2 3 4

Identify the correct code for the

Assertion (A) and Reason (R) :

Assertion (A) : After the end of the
cold war and dismantling of the
‘iron curtain’ of the erstwhile
Soviet Union the Russian
Minority in  Estonia was
perceived as a societal security
threat by Estonian people.

Reason (R) : Russian Minority is
different from Estonians in
culture, language and interests.

Codes :

(A) (A) is correct but, (R) is not
correct.

(B) (A) is not correct but, (R) is
correct.

(C) Both (A) and (R) are correct
and (R) is the correct
explanation for (A).

(D) Both (A) and (R) are correct
but, (R) is not the correct
explanation for (A).
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40.

41.

42.

43.

Match List 1 (Presidents) with the
List IT (Central Asian States) with the
codes given below.
List I
a. Islam Karimov
b. Nursultan

List I1
1. Tajikistan
2. Turkmenistan

Nazarbayev

c. Emomali 3. Uzbekistan
Rahmon

d. Sapamurat 4. Kazakstan
Niyazov

Codes :

a b c d

(A) 3 4 1 2

B) 2 3 4 1

©) 1 2 3 4

(D) 4 1 2 3

Which one of the following was
constituted by Israel to inquire into
its intelligence failure in the context
of Yom Kippur War of 1973 ?

(A) Jarring Mission

(B) Oslo Peace Process

(C) Fatah

(D) Agranat Commission

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : The central problem
in the Arab-Israeli dispute is
complex.

Reason (R) : It is on account of
Israel’s loosely defined borders
and its occupied territories.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(C) (A)is true but, (R) is false.

(D) (A)is false but, (R) is true.

In which of the following regions of
Africa is “The Moghreb states”
located?

(A) Central Africa

(B) Northern Africa

(C) Western Africa

(D) Southern Africa
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38. G-l (TH % LU UT & TeARM) B

39.

AI-11 (TSI 61 FoTeeRt 3 wfarde
FT @ &) F T gAferd L 1R A 5
el TETHA A
-1 -1
a. o R 1. fofeRer
SHSRICE et

2. FRARE TRl
31T qF T
TEIH

3. T S Rm

b. SRR i

c. TARMR
SfeTent

d. T g
A

(=N

4. JATESE TN

(A)
(B)
©
(D)

[l > S N T SN -
N~ W - o
w — K~ N O
S o = W oA

AMIHA (A) 3R HROT (R) & T

TEN S Dl T

Afe (A) : Mags & FuT g
T AHICA Hifore g & dle
US o SEEH & UvEd, TR
¥ TR oM gRr IWEE
TGRS HHISTH GRT &
ERERRSEE IS s i

HRUT (R) : WEF AIEEE
TR ST | GEpid S oo
T A FAFEA T T |

&<

(A) (A)Tel & T (R) T&I &I & |

(B) (A) Wl T8l € W (R) eI € |

(C) (A) ¥R (R) 5l Wl & 3R (R),
(A)  TE AT |

(D) (A) 3R (R) THl Tl € T (R),
(A) Pl el AT &I ¢ |
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40.

41.

42.

43.

et — 1 Qrgaf) e — 11 (@
TRTETE To2) o W1 GAferd Y 3T A
&2 et T T ST T T B
TR -1 = - 11
IR ISIEZSIE

a. TEATH SHUHTE
2. THAEE

b. TG
RELERCH

c. SAMTCH WEHA 3. SSTAhe

d. QTR SIS 4. TR

F

a

a b c d
A 3 4 1 2
B) 2 3 4 1
1 2 3 4
M 4 1 2 3
g 1973 % A9 FOR JF ok GH H
TSRIEA §RT 39T AT i fvheta s
Sitg ugdel & fod Fefafed § @
TehgeRT TIeT ToRaT 1T o7 2
(A) ST foem
(B) 3fi&eT oig wifad
(C) wE
(D) TR 3T

AMIFHIT (A) 3R TH H T (R) H

Tm e mn e

AP (A) : IRI-TREFA faars
T H5T THET S § |

& (R) : IE THEA & IT5-
difed  HHTe  qAur SqS
3T & H IRIT T T |

YA

(A) (A) 3R (R) 5HI & & W= (R),
(A) I e AT TR € |

(B) (A) ¥R (R) I & & W (R),
(A) & & AL |

(C) (A)TTE R (R) AT |

(D) (A) 3T, W] (R) TAE |

STSRIeH o fohg & 1 “HRE o e & 2
(A) HET TRIHT
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44,

45.

46.

47.

The wored ‘Zahal’ is used for :
(A) Israeli Defence Forces
(B) Egyptian Army

(C) Syrian Air Force

(D) Jordanian Army

Match List I (Country) with List II
(Presidents who were deposed during

the Arab uprisings).
List I List I
a. Tunisia 1. Muammar
Gaddafi
b. Egypt 2. Ali Abdullah
Saleh
c. Libya 3. El Abidine
Ben Ali
d. Yemen 4. Hosni
Mubarak
Codes :
a b c d
(A) 1 2 4 3
B) 3 4 1 2
<) 4 3 2 1
(D) 2 1 3 4

Which one of the following countries
has followed the ‘National Security
Strategy of Engagement and
Enlargement’ worldwide ?

(A) USA

(B) Russia

(C) EU

(D) China

Arrange the following countries
chronologically in the ascending

order, that are part of the European
sovereign debt crisis :
(I) Portugal

(IT)  Ireland

(III) Cyprus

(IV) Greece

Codes :

(A) LIV, 1L I

(B) ILIILIV,I

(©) NILLILIV

(D) IV, 1L, 1,11
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48.

49.

50.

Identify the correct code for the

Assertion (A) and Reason (R).

Assertion (A) : Article 8A of the
Single European Act, of 1986,
which took effect by December
31, 1992, provided for the
creation of an area without
internal frontiers in which free
movement of goods, persons,
services and capital are

ensured.
Reason (R) The process of
European Integration itself

contributed to this development
by removing the EU States’
sovereign control over their
economic and other affairs.

Codes :

(A) Both (A) and (R) are true but,
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(C) (A)is true but, (R) 1s false.

(D) (A) is false but, (R) is true.

Who said the following, “Cuba
should continue to be obstacle.” At
the sixth summit of the Organisation
of American States (OAS) ?

(A) Hugo Chevez

(B) Jose Miguel Insulza

(C) Jeannette Sanchez

(D) Fidel Castro

Match List I (Country) with List 1I
(Political party) with the code given
below.

List I List IT
a. Brazil 1. Renovation
National (RN)
b. Argentina 2. Partido
Progressita (PP)
¢. Mexico 3. Justicialist Party
(PJ)
d. Chile 4. Partido Accion
Nacional (PAN)
Codes :
a b c d
(A) 2 3 4 1
B) 3 4 1 2
©) 1 2 3 4
(D) 4 1 2 3
D-90-12



44, SEET I H T 7 9 NEEH U
T B €
(A) TREE UfdRET ST
(B) & &l et o
(C) iR arg o=
(D) STET & T T
45. gt — 1 (%) H g - [ Qg S
3T H-[aRTel % IR Ig=qd T G2
T &) o AT AT
T -1 el — 11
a. THERET 1. IR
TETH
b. W 2. 3Tl Irsgel
|
c. atfte=r 3. o IERH
Rl
d. T 4. ! qEOREH
E
a b c d
a1 2 4 3
B)3 4 1 2
@ 4 3 2 1
M 2 1 3 4
46. TfIRad <90 | 9 fhw U 3w 7 fava
W W AvFe OeRel WSt siw
SISTHE UUS SoTSHe” Sl STITo (o]
T2
(A) Judwu (B) &4
©) =7 (D) i
47. FPATGREd so | § ST U I 0T
e o BT &, 3% HIOTTHES !
HICThT § Samerd
(H g
1I) APRelS
(II1) Frwe
AV) T
FE:
(A LIV, 1L 1
(B) 1L IIL IV, I
(©) L LIL IV
(D) IV, IL 1 I
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48.

49.

50.

AMFT (A) 3R 0% (R) F fod @&l

AfHAF (A) : 1986 FH  THA
g sfufaw &1 =]
8A, ST ST 31, 1992 ¥ &N
T3, 3MARp ArHret & TR &
% G ! HeET Ha & o
T WA T GrAved € |

% (R) : UM THIHOT B
e WE, T g TS H
ofass o T FHEFAT W
YEHE =0T BT W 29
foera # AreE 4T |

A

(A) (A) 3R (R) FH & € W/ (R),
(A) I el = Tl € |

(B) (A) ¥R (R) 3Hl ¥ ¥ 3R (R),
(A) S TE AT E |

(C) (A)T@ &, T (R) AT |

(D) (A)3WA T, W] (R) TA T |

IFUREHT T o T & B WEw
Te | g e FE o1 T Cogar
AT o @I 2

a1 (M) B GA-I (SHIGSE SeT) &
g gAfed w AR A T Fer #

TRl T 3T T T Y

-1 -1
a. SISl 1. FEYE A9
(3T, T,
b. AT 2. Uil WHfEe(dr )
c. RIS 3. STRITHUCRE UTel
(ft S0)
d. 9 4, Tifeet TrEeA
Argafer (4 T T)
&
a b c d
A) 2 3 4 1
B3 4 1 2
C 1 2 3 4
M 4 1 2 3
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